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Exercise 1-14

1. b.  Accounting standards in the United States for nongovernmental entities are set primarily by private sector.  The principle standard setters are the FASB and the AICPA’s AcSEC.

2. c.  Accounting information is reliable if it is verifiable, is a faithful representation, and is reasonably free of error or bias.  

3. c.  The four fundamental recognition criteria are: 1) the item meets the definition of an element of financial statements, 2) the item has an attribute measurable with sufficient reliability, 3) the information is relevant, and 4) the information is reliable.  In addition, revenue should be recognized when it is realized or realizable and earned.
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Exercise 3-17

4. d.  SFAS 57 requires disclosure of related-party transactions except for compensation agreements, expense allowances, and transactions eliminated in consolidated working papers.  Required disclosures include the relationship(s) of the related parties; a description and dollar amounts of transactions for each period presented and the effects of any change in the method of establishing their terms; and amounts due to or from the related parties and, if not apparent, the terms and manner of settlement.  The effect on the cash flow statement need not be disclosed.

5. b.  The MD&A section is included in SEC filings.  It addresses in a nonquantified manner the prospects of a company.  The SEC examines it with care to determine that management has disclosed material information affecting the company’s future results.  Disclosures about commitments and events that may affect operations or liquidity are mandatory.  Thus, the MD&A section pertains to liquidity, capital resources, and results of operations.  

3.
c.  
The current ratio equals current assets divided by current liabilities.  An equal increase in both the numerator and denominator of a current ratio less than 1.0 causes the ratio to increase.  Windham Company’s current ratio is .8 ($400,000/ $500,000).  The purchase of $100,000 of inventory on account would increase the current assets to $500,000 and the current liabilities to $600,000, resulting in a new current ratio of .833.   
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Exercise 4-13

1.
d

2.
d

Exercise 4-17

1.
c

2. d

3. b

Exercise 4-21

6. c.  The operating section of a retailer’s income statement includes all revenues and costs necessary for the operation of the retail establishment, e.g., sales, cost of goods sold, administrative expenses, and selling expenses.

7. d.  Discontinued operations and extraordinary gains and losses are shown separately in the income statement, below income from continuing operations.  The cumulative effect of a change in accounting principle is accounted for by retrospectively revising prior years’ financial statements.  

8. a.  Extraordinary items should be presented net of tax after income from operations.

Chapter # 5:
Exercise 5-15
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Exercise 5-20

9. c.  Revenue is recognized when (1) realized or realizable and (2) earned.  On May 28, $500,000 of the sales price was realized while the remaining $500,000 was realizable in the form of a receivable.  The revenue was earned on May 28 since the title of the goods passed to the purchaser.  The cost-recovery method is not used because the receivable was not deemed uncollectible until June 10.

10. d.  Based on the revenue recognition principle, revenue is normally recorded at the time of the sale or, occasionally, at the time cash is collected.  However, sometimes neither the sales basis nor the cash basis is appropriate, such as when a construction contract extends over several accounting periods.  As a result, contractors ordinarily recognize revenue using the percentage-of-completion method so that some revenue is recognized each year over the life of the contract.  Hence, this method is an exception to the general principle of revenue recognition, primarily because it better matches revenues and expenses.  

11. b.  Given that one-third of all costs have already been incurred ($6,000,000), the company should recognize revenue equal to one-third of the contract price, or $8,000,000.  Revenues of $8,000,000 minus costs of $6,000,000 equals a gross profit of $2,000,000.
Chapter # 6:
Exercise 6-20

12. a.  An annuity is a series of cash flows or other economic benefits occurring at fixed intervals, ordinarily as a result of an investment.  Present value is the value at a specified time of an amount or amounts to be paid or received later, discounted at some interest rate.  In an annuity due, the payments occur at the beginning, rather than at the end, of the periods.  Thus, the present value of an annuity due includes the initial payment at its undiscounted amount.  This lease should be evaluated using the present value of an annuity due.

13. d.  Both future value tables will be used because the $75,000 already in the account will be multiplied times the future value factor of 1.26 to determine the amount 3 years hence, or $94,500.  The three payments of $4,000 represent an ordinary annuity.  Multiplying the three-period annuity factor (3.25) by the payment amount ($4,000) results in a future value of the annuity of $13,000.  Adding the two elements together produces a total account balance of $107,500.
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Exercise 7-23

14. c.  The allowance method records bad debt expense systematically as a percentage of either sales or the level of accounts receivable.  The latter calculation considers the amount already existing in the allowance account.  The credit is to a contra asset or allowance account.  As accounts receivable are written off, they are charged to the allowance account.

15. d.  If a company uses the allowance method, the write-off of a receivable has no effect on total assets.  The journal entry involves a debit to the allowance account and a credit to accounts receivable.  The net effect is that the asset section is both debited and credited for the same amount.  Thus, there will be no effect on either total assets or net income.

16. c.  The entry is to debit bad debt expense and credit the allowance account.  Net credit sales were $1,500,000 ($1,800,000 - $125,000 of discounts - $175,000 of returns).  Thus, the expected bad debt expense is $22,500 (1.5% x $1,500,000).  This amount is recorded regardless of the balance remaining in the allowance account from previous periods.  The net effect is that the allowance account is increased by $22,500.
Chapter # 8:
Exercise 8-21
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Exercise 8-23

17. c.  The company began March with 3,200 units in inventory at $64.30 each.  The March 4 purchase added 3,400 additional units at $64.75 each.  Under FIFO, the 3,600 units sold on March 14 were the oldest units.  That sale eliminated all of the 3,200 units priced at $64.30 and 400 of the units priced at $64.75, leaving an inventory of 3,000 units at $64.75 prior to the March 25 purchase.  On March 25, 3,500 units were acquired at $66.  The 3,450 units sold on March 28 were the 3,000 remaining units priced at $64.75 and 450 units priced at $66.  The ending inventory consists of 3,050 units at $66 each, or $201,300.  The answer would have been the same under the periodic FIFO method.

18. a.  The ending inventory consists of 3,050 units (beginning inventory plus purchases, minus sales).  Under the periodic LIFO method, those units are valued at the oldest prices for the period, which is $64.30 of the beginning inventory.  Multiplying $64.30 times 3,050 units produces a total inventory value of $196,115.

19. a.  Under the perpetual LIFO method, the company begins with 3,200 units at $64.30.  To this is added the March 4 purchase of 3,400 units at $64.75.  The March 14 sale uses all of the March 4 purchase and 200 of the original inventory units.  Thus, the firm is left with 3,000 units at $64.30.  The March 25 purchase of 3,500 at $66 is added to the previous 3,000 units.  The March 28 sale of 3,450 units comes entirely from the March 25 purchase, leaving just 50 of those units at $66 each.  Thus, at the end of the month, the inventory consists of two layers:  3,000 units at $64.30 ($192,200), and 50 units at $66 ($3,300).  Adding the two together produces a total ending inventory of $196,200.

Chapter # 9:
Exercise 9-13

1.
b

2.
c

3.
d

4.
c

Exercise 9-23

1.
a

2.
c

Exercise 9-25

20. d.  The failure to record a sale means that both accounts receivable and sales will be understated.  However, inventory was correctly counted, so that account and cost of goods sold were unaffected.

21. d.  The overstatement (double counting) of inventory at the end of year 1 caused year 1 cost of goods sold (BI + Purchases – EI) to be understated and both inventory and income to be overstated.  The year 1 ending inventory equals year 2 beginning inventory.  Thus, the same overstatement caused year 2 beginning inventory and cost of goods sold to be overstated and income to be understated.  This is an example of a self-correcting error.  By the end of year 2, the balance sheet is correct.

22. b.  The conventional retail inventory method adds beginning inventory, net purchases, and markups (but not markdowns) to calculate a cost percentage.  The purpose of excluding markdowns is to approximate a lower-of-average-cost-or-market valuation.  The cost percentage is then used to reduce the retail value of the ending inventory to cost.  FCL’s cost-retail ratio is 40% ($90,000 / $225,000), and ending inventory at cost is therefore $20,000 (40% x $50,000 ending inventory at retail).
Chapter # 10:
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Exercise 10-27

23. a.  The costs of fixed assets (plant and equipment) are all costs necessary to acquire these assets and to bring them to the condition and location required for their intended use.  These costs include shipping, installation, pre-use testing, sales taxes, interest, capitalization, etc.  The original cost of the machinery to be recorded in the books is the sum of the purchase price, installation, and delivery charges.

24. d.  SFAS No. 153, Exchanges of Nonmonetary Assets – an amendment of APB Opinion No. 29, states that the basic principle to be followed in these exchanges is to value the asset received at fair value and to recognize gain or loss (the difference between the fair value and the book value of the asset given up). Harper’s used machine has a book value of $64,000 ($162,500 cost - $98,500 accumulated depreciation).  The fair value of the used machine is $80,000 resulting in a gain of $16,000 ($80,000 – 64,000).  The only exceptions to using fair value are (1) when fair value is not determinable and (2) when the exchange lacks commercial substance.  In these cases, book value is used to value the new asset and the gain would not be recognized.

25. c.  The answer is the same as question 2.
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Exercise 11-24

26. d.  Because 50% of the original estimate of quality ore was recovered during the years 1997 through 2004, recorded depletion of $250,000 [50% x ($600,000 - $100,000 salvage value)].  In 2005, the earlier depletion of $250,000 is deducted from the $600,000 cost along with the $100,000 salvage value.  The remaining depletable cost of $250,000 will be allocated over the 250,000 tons believed to remain in the mine.  The $1 per ton depletion is then multiplied times the tons mined each year..

27. a.  The cost should be amortized over the remaining legal life or useful life, whichever is shorter.  In addition to the initial costs of obtaining a patent, legal fees incurred in the successful defense of a patent should be capitalized as part of the cost, whether it was internally developed or purchased from an inventor.  The legal fees capitalized then should be amortized over the remaining useful life of the patent.

28. a.  Given that the company paid $6,000,000 for net assets acquired with a fair value of $5,496,000, goodwill was $504,000.  Under SFAS 142, Goodwill and Other Intangible Assets, purchased goodwill is not amortized but is tested annually for impairment.
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29. d.  SFAS 43 lists four requirements that must be met before a liability is accrued for future compensated absences.  These requirements are that the obligation must arise for past services, the employee rights must vest or accumulate, payment is probable, and the amount can be reasonably estimated.  If the amount cannot be reasonably estimated, no liability should be recorded.  However, the obligation should be disclosed.

30. c.  SFAS 5 requires a contingent liability to be recorded, along with the related loss, when it is probable that an asset has been impaired or a liability has been incurred, and the amount of the loss can be reasonably estimated.  The key words are “probable” and “reasonably estimated.”

31. c.  SFAS 5 prescribes accounting for contingencies.  The likelihood of contingencies is divided into three categories:  probable (likely to occur), reasonably possible, and remote.  When contingent losses are probable and the amount can be reasonably estimated, the amount of the loss should be charged against income.  If the amount cannot be reasonably estimated but the loss is at least reasonably possible, full disclosure should be made, including a statement that an estimate cannot be made.

32. b.  If an enterprise intends to refinance short-term obligations on a long-term basis and demonstrates an ability to consummate the refinancing, the obligations should be excluded from current liabilities and classified as noncurrent (SFAS 6, Classification of Short-Term Obligations Expected to Be Refinanced).  The ability to consummate the refinancing may be demonstrated by a post-balance-sheet-date issuance of a long-term obligation or equity securities, or by entering into a financing agreement. 
Chapter # 14:
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Exercise 14-23

1. a.  Because the bonds sold for more than their face value, they were sold at a premium.  The premium adjusted the yield of the bonds to the effective rate (presumably, the market rate).

2. d.  The annual interest cash outlay is $70,000 (7% nominal rate x $1,000,000), or $35,000 each semiannual period.  Interest expense is less than $35,000, however, because the bonds were originally issued at a premium.  That premium should be amortized over the life of the bond.  Thus, interest expense for the first 6 months is $31,884 [$1,062,809 x 6% x (6 months / 12 months)], and premium amortization is $3,116 ($35,000 - $31,884).

3. b.  A bond liability is shown at its face value (maturity value), minus any related discount, or plus any related premium.  Thus, a bond issued at a premium is shown at its maturity value plus the unamortized portion of the premium.  The premium account is sometimes called an adjunct account because it is shown as an addition to another account.
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33. d.  For both sales-type and direct-financing leases, the lessor should record as the gross investment in the lease the amount of the minimum lease payments (which include periodic payments plus guaranteed residual value) plus any amounts of unguaranteed residual value.  The net investment in the lease is equal to the gross investment, plus any unamortized initial direct costs, minus unearned income.  The unguaranteed residual value is the expected value of the leased asset in excess of the guaranteed residual value at the end of the lease term (SFAS 13).

34. b.  SFAS 91 defines initial direct costs as having two components:  (1) the lessor’s external costs to originate a lease incurred in dealings with independent third parties and (2) the internal costs directly related to specified activities performed by the lessor for that lease.  According to SFAS 13, in a sales-type lease, the cost, or carrying amount if different, plus any initial direct costs, minus the present value of any unguaranteed residual value, is charged against income in the same period that the present value of the minimum lease payments is credited to sales.  The result is the recognition of a net profit or loss on the sales-type lease.

35. d.  A lessee records a lease as a capital lease if it meets any one of four criteria.  Existence of a bargain purchase option is one of these criteria.  If a lease involving land and a building contains a bargain purchase option or if the lease transfers ownership to the lessee at the end of its term, the lessee separately capitalizes the land and the building
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Exercise 16-30

1 c.  A deferred tax asset records the deferred tax consequences attributable to deductible temporary differences and carryforwards.  Advance rental receipts accounted for on the accrual basis for financial statement purposes and on a cash basis for tax purposes would give rise to a deferred tax asset.  The financial statements would report no income and no related tax expense because the rental payments apply to future periods.  The tax return, however, would treat the rent as income when the cash was received, and a tax would be due in the year of receipt.  Because the tax is paid prior to recording the income for financial statement purposes, it represents an asset that will be recognized as an expense when income is finally recorded.

2 d.  For financial reporting purposes, the reported amount (cost – accumulated depreciation of the machine at year-end, assuming straight-line depreciation and no salvage value, will be $80,000 [$100,000 cost – ($100,000 / 5 years)].  The tax basis of this asset will be $66,670 [$100,000 (33.33% x $100,000)].  A taxable temporary difference has arisen because the excess of the reported amount over the tax basis will result in a net future taxable amount over the recovery period.  A taxable temporary difference requires recognition of a deferred tax liability,  Assuming the 35% rate applies during the asset’s entire life, the deferred tax liability equals the applicable enacted tax rate times the temporary difference, or $4,666 [35% x ($80,000 - $66,670)].

3 d.  When one tax rate does not apply to all relevant years, a more complex calculation is necessary.  In this question, different rates apply during the recovery period.  During the years 2008-2010, book depreciation will equal $60,000 [3 x ($100,000 / 5)], and tax depreciation will equal $66,670 (the tax basis at December 31, 2007, will be recovered in full by December 31, 2010).  Based on the applicable enacted 40% tax rate, the net deferred tax liability for 2008-2010 will be $2,668 [40% x ($66,670 - $60,000)].  However, the excess of book over tax depreciation in 2004 will be $20,000 ($20,000 - $0).  
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5. a.  SFAS 87 defines the PBO as the actuarial present value of all future benefits attributable to past employee service at a moment in time.  It is based on assumptions as to future compensation if the pension plan formula is based on future compensation.

6. c.  Under SFAS 87, a minimum liability must be recognized when the ABO exceeds the fair value of plan assets.  Because the ABO exceeds the fair value of plan assets, the minimum liability to be recognized is $517,500 ($825,000 ABO - $307,500 FVPA).

7. b.  Unrecognized prior service cost arises from the awarding of retroactive benefits resulting from plan initiation or amendments.  Prior service cost is assigned to the future service periods of active employees using either a straight-line or another acceptable method of allocation.  Given that the average remaining service life of the firm’s employees is 10 years, the annual charge is $19,000 ($190,000 / 10).
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8. b.  Par value represents a stock’s legal capital.  It is an arbitrary value assigned to stock before it is issued.  Par value represents a shareholder’s liability ceiling because, as long as the par value has been paid in to the corporation, the shareholders obtain the benefits of limited liability.

9. c.  Common shareholders usually have preemptive rights, which means they have the right to purchase any new issues of stock in proportion to their current ownership percentages.  The purpose of a preemptive right is to allow shareholders to maintain their current percentages of ownership.  Given that Smith had 2,000,000 shares outstanding ($10,000,000 / $5), an investor with 20,000 shares has a 1% ownership.  Hence, this investor must be allowed to purchase 4,000 (1% x 400,000 shares) of the additional shares.

10. b.  A stock dividend is a transfer of equity from retained earnings to paid-in capital.  The debit is to retained earnings, and the credits are to common stock and additional paid-in capital.  More shares are outstanding following the stock dividend, but every shareholder maintains the same percentage of ownership.  In effect, a stock dividend divides the pie (the corporation) into more pieces, but the pie is still the same size.  Hence, a corporation will have a lower EPS and a lower carrying amount per share following a stock dividend, but every shareholder will be just as well off as previously.

Chapter # 19:
Exercise 19-24

11. d.  A noncompensatory plan is defined as one in which substantially all full-time employees participate, the stock available to each employee is equal or is based on salary, the option exercise period is reasonable, and the discount from market is not greater than reasonable in an offer to shareholders or others.  Noncompensatory plans do not provide for the achievement of certain performance criteria. 

12. b.  A compensatory stock option plan involves the issuance of stock in whole or in part for employee services.  The compensation cost should be recognized as an expense of one or more periods in which the employee performed services.
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Exercise 20-26

13. a.  Prior-period adjustments (error corrections) are to be accounted for through retained earnings, not the income statement.  Thus, the beginning balance of retained earnings should be credited for revenue that was erroneously not accrued in a prior period.  The amount of the credit at May 31, 2007 is $91,800 (2006 accrued interest revenue)..

14. d.  A change in the liability is merely a change in an estimate; it is not a change in principle.  A change in estimate should be accounted for prospectively, that is, in the current and future periods.

15. c.  The correction of an error in the financial statements of a prior period is accounted for and reported as a prior-period adjustment and excluded from the determination of net income for the current period (SFAS 16, Prior Period Adjustment).
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Exercise 21-31

16. d.  Under SFAS 95, a statement of cash flows should report as operating activities all transactions and other events not classified as investing or financing activities.  In general, the cash flows from transactions and other events that enter into the determination of income are to be classified as operating.  Distributions to owners (cash dividends on a company’s own stock) are cash flows from financing, not operating, activities.

17. a.  Investing activities include the lending of money and the collecting of those loans, and the acquisition, sale, or other disposal of securities that are not cash equivalents and of productive assets that are expected to generate revenue over a long period of time.  Investing activities include the purchase of machinery and the sale of a building.  The net inflow from these activities is $700,000 ($1,200,000 - $500,000).  Financing activities include the issuance of preferred stock and the payment of dividends.  The net inflow is $3,600,000 ($4,000,000 - $400,000).  The conversion of bonds into common stock and the stock dividend do not affect cash.

18. c.  Net operating cash flow may be determined by adjusting net income.  Depreciation is an expense not directly affecting cash flows that should be added back to net income.  The increase in accounts payable is added to net income because it indicates that an expense has been recorded but not paid.  The gain on the sale of land is an inflow from an investing, not an operating, activity and should be subtracted from net income.  The dividends paid on preferred stock are cash outflows from financing, not operating, activities and do not require an adjustment.  Thus, net cash flow from operations is $4,600,000 ($3,000,000 + $1,500,000 - $200,000 + $300,000).

